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Question 1

below. (28 x 2 marks)

Study tha andmals in grovps A and B balow.

For each question, four options are given. One of them is the correct answer, make your choice

Which of the following i3 comect? A fick () shows. the presenca of the charackarisbic(s)

https://www.classmarker.com/a//tests/test/?test_id=1830200

of 1he ariimals,
A.
Has body
Has body
Group covering of o e Has wings
feathers
A v §
v B. A " P
c.
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Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,264,554
Question 2 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

Which of the following statements about fungi are true?

A Yeast is a type of fungi.

B Fungi reproduce by spores.

C Fungi are not made of cells.

D Fungi do not have chloroplasts.

>

A and B only

C and D only
v C. A, BadDonly

D. B, CandD only

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 8th Oct 2021

Last Modified: N/A

QID#: 29,264,563
Question 3 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

Observalions made on animals P and O are recordad @ the table below.

Characteristic Has F-staged |ife Ta]r oggs an | Toung resembles
cycle land adudi
Anlmal
P [ v v

Which of the following rapresents animals P and O comecty?

A. | Animal P | Animal Q

butterfly | mosquito

https://www.classmarker.com/a//tests/test/?test_id=1830200 2/65


https://0cm.classmarker.com/10070943_245WIPEI.jpg
https://0cm.classmarker.com/10070943_THXUZ3QE.jpg
https://www.classmarker.com/a/tests/qb/manage/?test_id=1830200&question_id=29264554
https://www.classmarker.com/a/tests/qb/manage/?test_id=1830200&question_id=29264554&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1830200
https://www.classmarker.com/a/tests/qb/manage/?test_id=1830200&question_id=29264563
https://www.classmarker.com/a/tests/qb/manage/?test_id=1830200&question_id=29264563&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1830200
https://0cm.classmarker.com/10070943_I6XZLDXQ.jpg

11/1/21, 7:53 AM

Animal P | Animal Q

butterfly |frog

Animal P | Animal Q

cockroach | frog

Animal P | Animal Q

cockroach | mosquito

Question Type:
Randomize Answers: No
Date Added:

L

ast Modified:

QID#:

Question 4

Muiltiple Choice

Fri 8th Oct 2021

N/A
29,264,571
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Biethany vestigated the condilions needed for tha geminstion of gresn beans.

She prepared three set-ups, &, B and C, each condaining same amount of cotton wood
and 1ha same numbar of grean beans s shown below,

green bians

—— colion waood
—

The tebde balow shows the conditions aach sel-up was exposed 1o,

Conditions ]
Catban wioal Tifrparatiie Presance of
Set up R light
A dam a0 yas
B | 30 a2
==  damp 0 fo

Belthany recomdad the obseralions on fhe grean boans afier flve days,

Which of the fodowing observations comectly matchas the reason?

Observation

Reason

germinated.

Green beans in set-up A

Air, water and warmth needed for germination were
present.

Observation

Reason

germinated.

Green beans in set-up A

Air, water and warmth needed for germination were
present.

Observation

Reason

https://www.classmarker.com/a//tests/test/?test_id=1830200
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Green beans in set-up B did not germinate. | No light was present.

D. |observation

Reason

Green beans in set-up C did not germinate.

No warmth and light were present.

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 5

Multiple Choice
No

Fri 8th Oct 2021
N/A

29,264,595

calls?
v A. AandC
B. AandD
C. BandC
D. BandD

Question Type:
Date Added:

Last Modified:
QID#:

Question 6

Plant raproductve systam

Randomize Answers:

Muiltiple Choice
No

Fri 8th Oct 2021
N/A

29,264,602
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Primary 6 Science » Primary 6 Science (Prelim)

Thie thagrams below show The reproductive systams of 3 plant and human.

Human raproductive system
Which of the lolowing reprassn the pans imohed in prodecing the male mproductie

Primary 6 Science » Primary 6 Science (Prelim)

2 pts
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The diagram befow shows how a frult is developed from a flower.

flower —| Process X |—»| Process Y | —s fruit

Which of the following comectly idenlifies processes X and ¥?

A. |Process X Process Y

seed dispersal | fertilisation

B. |Process X |Process Y

fertilisation | seed dispersal

C. Process X |Process Y

fertilisation | pollination

v D. Process X |Process Y

pollination | fertilisation

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 8th Oct 2021

Last Modified: N/A

QID#: 29,264,782
Question 7 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

The diagrams below show two flowers, G and H, from the eame type of plant,

Which is / ara the armow(s) that represent(s) the process pollination?
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A. C
B. D

¥ C. BandConly

D. AandE only

Question Type: Multiple Choice

Randomize Answers: No
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Last Modified: N/A

QID#: 29,264,785
Question 8 Primary 6 Science » Primary 6 Science (Prelim)

Samh_m-a-d i find out I evercrowding affects plant growih. The table balow shows
four different sot-ups, P, O, R and 5, aach containing the same amount of scil. She
walssed oach set-up with the sama smount of walar daily,

Condilicns
Sat-ups Size of pol and Locafion | Tamparaturo (°C)
numbar of seeds
soed ¥
P @_ classnoom 25
— pot
sy X
Q — pol
parden 5
saeds X
R |
pal garden 25
X
3 pat pardan 35

Wihich sel-ups, P, O, R and 5, show'd Sarsh uza o ensure a lar ety

A. PandRonly
P and S only
v C. Qand S only

D. QandRonly
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Question 9

Amount of feod
digasind

Multiple Choice
No

Fri 8th Oct 2021
N/A

29,264,787
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Primary 6 Science » Primary 6 Science (Prelim)

The ¢han below shows the amount of food digested in vanious pats of the human
clippaaliae gymlem aie houns afar 5 méal

W X

¥ z
Paris of the digestive sysiam

Based on ihe graph abive, which one of the following best mpmsents W, X, Y and Z
respectively?

w X

Y

z

stomach | large intestine

small intestine | mouth

w X

Y

4

stomach [ mouth [ small intestine

large intestine

w X

Y

z

mouth [ small intestine

large intestine | stomach

w

X Y

z

small intestine

large intestine | mouth | stomach

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 10

Multiple Choice
No

Fri 8th Oct 2021
N/A

29,264,798
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Morms prepansd set-ups A, B and G using the sams fype of plant. Sho remosed sorme
roots from the plants in set-ups B and © and rermoved some eaves from the plant in
sel-up G a5 shown in the diagramsa bedow. Sha obesrved the volurme of waltar it in
aach sel-up over a pariod of one week.

Wihich of the: following graphs best represents the results obiained for the three sel-
upe, A, B and C7

* Volume of water left (ml)
&

Set-up A
Set-up B
set-up C

P

Time (days)

* Volume of water left (ml)
F 1

Set-up A
Set-up C
Set-up B

b=
Time {days)

https://www.classmarker.com/a//tests/test/?test_id=1830200
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Volume of water left (ml)
F 1

Set-up C
Set-up A
Set-up B

i

Time {days)

Volume of water left (ml)

&
Set-up C
Set-up B
Set-up A
.
Time (days)

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Fri 8th Oct 2021

Last Modified: N/A

QID#: 29,264,801

Primary 6 Science » Primary 6 Science (Prelim) 2 pts

Question 11
Which one of the following parts is found in a root cell but not in a cheek cell?

A. cellwall
B. cytoplasm
v C. chloroplast

D. cell membrane
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Question 12

Multiple Choice
No

Fri 8th Oct 2021
N/A

29,264,804
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Deniza prepared sel-yps &, B, C ard D as shown below,

Primary 6 Science » Primary 6 Science (Prelim)

A. SetupA
Set-up B
v C. SetupC

D. Set-upD

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 13

vearter
-~ bilack
e apage
e i
watar
inrch plar
Sat-up A Sal-up B
wialer I
- e
Tighiad pland fighvied varler
| SetupC Setup D

Muiltiple Choice
No

Fri 8th Oct 2021
N/A

29,264,805

https://www.classmarker.com/a//tests/test/?test_id=1830200

Shie maasured The concertralion ef catben diaxida in the waler in each test-tube bafone
the axperimant and two ours laler,

In wiich lesl-lubs would thare b a decrasss in the copcenirstion of carbon dioxide
afler el oding?

Primary 6 Science » Primary 6 Science (Prelim)
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Giaki wanbed |o construct a fying model as shown iy thes dEagram below,

support o keep
madal upright

connechion ko
waber hooe

She wanbed to conduct a les! lmunch where fhe flying modsl would By fo a height of
ane makne wiven filled with water ard thal @ would nod be damaged whan I landed on
iz oL

Which al [ foliawing prapeties must she consider while selecting the materials 1o
build bar flying moder?

v" A.  Strength and waterproof
B. Strength and conductor of heat
C. Conductor of heat and flexibility

D. Conductor of electricity and waterproof

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 8th Oct 2021

Last Modified: N/A

QID#: 29,264,813
Question 14 Primary 6 Science » Primary 6 Science (Prelim) 2 pts
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A sealed comtaingr holds 700 cm® of oi and 300 cm? of air 88 shown befow. Anoihar
200 e of ofl i removed and 100 cm? of air Is added 1o the container through e

P,

senlad contaaner

300 o of B ———l,

T em? al oil

What is (he fmal vohrma of eir in the contamner?

A. 300cmd
B. 400 cm?
v C. 500cm3
D. 600 cm?

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 15

Multiple Choice
No

Fri 8th Oct 2021
N/A

29,264,816
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v A, Aonly
B only
C. AandConly
A, BandC

Question Type:

Date Added:
Last Modified:
QID#:

Randomize Answers:

Question 16

Based on Tim's exparimant, which of the following is comact?

A Marbles oocupy Spaca.
E Waler has no definie wolume.
G The walume of each martile is 5 e

Multiple Choice
No

Fri 8th Oct 2021
N/A

29,264,819
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Tim had o bag of identical morbles, He wanted to find the volume of each marbila,
Her il & musasuring cylinder with weler 2= shown n diagram baloe.,

Primary 6 Science » Primary 6 Science (Prelim)

2 pts
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Tha tabla below shows the freezing point and bading point of thres subatencas, 2 Y

and Z.
Substance Freezing point (“C) Boliing polnt (*C)
8 &n
17 118
Z 43 181

A. Xonly
Y only
¥"C. YandZonly

D. XandZonly

Question Type:
Randomize Answers: No

Question 17

Multiple Choice

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,264,823

Which of the substances, ¥, ¥ or Z, alare iquid(s) at 80°C7F

Primary 6 Science » Primary 6 Science (Prelim)

Dﬂfll'-ildbhmmﬂﬂmlwhﬁynfmd:h B, C and DO SEha
construciod the clncul &8 shown balow,

[

Sha reconsed her chearvabon below when sha removed canain ods and dosed the

Ewdlch.
| Rod{s) removed from the circult | Bulb lghted up
o YEs —
Aand G yes
B, L oand D no
A B D no

Electrical conductor(s)

Electrical insulator(s)

A C

B,D

https://www.classmarker.com/a//tests/test/?test_id=1830200

Basad on her obaendation, which of the ollowing conclusions sbout the ods A, B, G
amd D iz comact?

2 pts
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B.

Question Type:

Electrical conductor(s) [ Electrical insulator(s)

B,C,D A

Electrical conductor(s) | Electrical insulator(s)

A B,C,D

Electrical conductor(s) [ Electrical insulator(s)

B,D A C

Randomize Answers: No

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,264,834

Question 18

Muiltiple Choice

Q-

B4

ClassMarker - Manage Test

Primary 6 Science » Primary 6 Science (Prelim)

The cirawil below consists of identical bulbs, 81, B2, B3 and B4, all lit up,

Which of tha folowing is likaly 1o be absereed whan anly ona af tha bulbs in he sbawe
ciruit 8 fused &l ome fime?

Bulb that was
fused

Smallest number of bulbs
remaining lit

Largest number of bulbs
remaining lit

B1 or B4

0

3

Bulb that was
fused

Smallest number of bulbs
remaining lit

Largest number of bulbs
remaining lit

B1 or B3

1

2

Bulb that was
fused

Smallest number of bulbs
remaining lit

Largest number of bulbs
remaining lit

B2 or B3

2

3

Bulb that was
fused

Smallest number of bulbs
reamaining lit

Largest number of bulbs
remaining lit

B2 or B4

0

3

https://www.classmarker.com/a//tests/test/?test_id=1830200
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Question Type: Multiple Choice
Randomize Answers: No
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QID#: 29,264,893
Question 19 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

A sieel bar XY was magnedised using the "stroke” method as shown in Disgrarm 1 below,
Diagram 2 shows the magnets poles of XY after it was magnetisad.

Diagram 1 Diagram 2

Anather siend bar balow was magnelised using teo magnels &s shown in
Diagram 2.
magnets

e LA TE R ETT

L

H g M 5

DHagram 3

Idant#y the polas at A and B used 1o magnelise the stes! bar respectively.

A. |Poles at A |Poles at B
N S

v B. Poles at A | Poles at B
S N

C. |Poles at A |Poles at B
N N

D. |Ppoles at A |Poles at B
S S

Question Type: Muiltiple Choice
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Question 20 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

Afl, Bath, Caiing, and D prepaned tha folicrwing saf-ups using identical booes & and
B as shoem balow),

b A booc B

The boxes wera placed at the same starting poind on e memps, They obhserved that
oot B would slide dowrt the rmmp but box A remained statiomarny,

T piapilz mada tha fodlowing ststemants:

The gravilalional force acing on bath bowas was the
==,

Trea gravitabonal fores ey on DOE B was mah (han
thit af box A,

“Fon surlace of the ramp wians bos & was pleced on wes
smogihar,

ig 35 °

Tre frictonal force betwaan box B and e surlacs of the
ramp was kess than that of box 4 and the sutface of the
ramp.

‘Which of the pupils made the comect stalements?

A. Ali and Cailing
v' B. Aliand Devi

C. Beth and Cailing
D. Beth and Devi

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,264,906
Question 21 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

Which of the following arrows shows the direction of frictional force acting on a ladder which is leaning
against the wall?
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A.
wall ladder
floor
v' B
wall ladder
floor
C.
wail ladder
floor
D.

https://www.classmarker.com/a//tests/test/?test_id=1830200
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wall ladder

floor

Question Type:

Multiple Choice

Randomize Answers: No

Date Added:
Last Modified:
QID#:

Fri 8th Oct 2021
N/A
29,264,913

Primary 6 Science » Primary 6 Science (Prelim)

Question 22

Stalla carded out an experiment §o find ot which ubber ball, P, Q or R, travelied the
furthest distance whan it was oled down (he same ramg as shown below, Tha mbbar
bads wers mentical In size but of diffaren] masses.

kil

distance trevediad by ball

"“-h-h..__h_h_[ \ 1

For aach ball, she repeated fhe exparimend three fimes. Sha recorded the distance
travallad by esch ball in tha table balkw, However, she did not camy oot & fair lest when
conducting tha axpariment with bhall R

Distance travelled by balls (cm)
[ 1oy T try T try Avarage
P 14 43 I 146 143.3
Q 183 184 | 180 182.3
R an 125 [ RAD 144,58

A
B

C

Bascd on the results of the above axpeiment. which of the ollowing statemenls
Efane ol likely bo be inea?

The armaunt of granitalianal forse acking on ball O was fhe beasd,
The way she released ball R was rof the same for & the thres tries.

Ball B was released 58 differant positions on the ramg at each regeatad
axpariment,

https://www.classmarker.com/a//tests/test/?test_id=1830200
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A. Aonly

B. Bonly

v C. BandConly

D. A,BandC
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,264,916
Question 23 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

A light sensor s wsed to count the numbser of woodan Dlocks on a moving balt ina
faciory as shown in the selup el

%T fight sensor connesled 1o a counter
I.

A

TOS

woodan block

light souEce

Tha bt moves ot & constant spoad. Tha workers plotied the resulls in tha graph shown

Brihcrwe.
Light inbensity (hux)
Bt 2 3 4 & & 7 i %)

Based on e graph abore, how many wonden bocks woers counted in five sesonda?

v A 2
3
C. 4
5
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,264,919
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Question 24 Primary 6 Science » Primary 6 Science (Prelim)

Th disgiraim beow shivas a lamp post. The distance from A to 8 is identical fo the
distance from B to C, David walked under the lighted lamp post from B e G, then C o
A passing B again, He increased hs speed whils walking from B to A

Il posi

A B G

Which one of the disgrams below shows the changes in the length of the boy's
shadow o the period of time?

~ Length of
shadow (cm)
‘T
>
Time (s)

https://www.classmarker.com/a//tests/test/?test_id=1830200
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Length of
shadow {(cm)

[

iy
Time (s)
" Length of
shadow (cm)
F 1
.
Time (s)

Length of
shadow {cm)
'Y

Time (E]

https://www.classmarker.com/a//tests/test/?test_id=1830200 22/65



11/1/21, 7:53 AM

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 25
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Multiple Choice
No

Fri 8th Oct 2021
N/A

29,264,921
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Ermma carded cail an sxpaiment wilh the v set-ups X ard ¥ a5 shown balow.
She L lanTcsl contalnan and burners for the Tao Bel-Lps

in set-up X, she placed @ blok of wax on a4 sunsce which was placed Scm above e
berme of the corlsinar.

In sef-up Y, she placed the same amount of wax on an denlical sufacs. The purfacs
was ramad 18 onabove the bess of he conldiner as shown bolow.

bayesr of air .|‘_'

Setup X Sat-up ¥
She meconded her abasrvalian in e 1abds beakre

Layer of alr batwoen wax and | Tima taken for wax to malt (=)
base of conlaingr (em)
5 20 =]
15 ]

Basad gn the resuls of the expariment, Emma atiempbed o prepam Bed ice cream
i Is & dessen whene mated ior oneam is quickly deap fried 1o create 8 goiden and
crispy shel arcurd the sl ookl kce cream

She prepared the four dowgh esing 8 misture of weter, baking scds amd four. She
coabed 1he idemlical oo craams with diffessn amourds of Ao dough &5 shown balow

Then they were deep fried using the same amount of haal Tor en saconds unil
folden brown,

lce cream A

5 R -A A T T -
A It A U R TR A
x -

=
- ot ]
T o B O I g SR T =

flour dough air bubiles

Emma obsared that one of the joe crearms meBed afler ben seconds.
Which ona of this Tolesing le sormscl?

Ice cream that melted | Reason

A The flour dough is a good conductor of heat.

Ice cream that Reason

melted

A There was less air in the dough. Thus, the ice cream gained heat
faster.

https://www.classmarker.com/a//tests/test/?test_id=1830200
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C. Ice cream that melted [ Reason

B The air in the air bubbles is a poor conductor of heat.

D. [|ce cream that melted | Reason

B The flour dough has more air bubbles round the ice cream.
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,264,945

Question 26

Primary 6 Science » Primary 6 Science (Prelim)

Alison propared tha setup shown balow using the same amaun] of wax b
hald fhe identzsl thumblaciks on the materdals A and B respeciwaby. The
malerials are of Henlsl englh. The humbiacks were placed al equal
distance away rom Lhe heal source, Mison observed the thumbleck on
material B drop off first

Matanal &

Matarial B

Mad, she wapped a piece of papss mound maienals A and B a5 shown below and pul
aver a hoat scumce., She observed the pieee of paper aftar three minuies,

T

Ptaterial A

3 mratedal B
-

Wihich of the following provides the comect obeervalion and explanation?

A. | Observation

Explanation

The paper on material A would
burn.

Material A conducted heat to the paper more
quickly.

v B. Observation

Explanation

The paper on material A would

Material A conducted heat away from the paper more

https://www.classmarker.com/a//tests/test/?test_id=1830200
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burn. slowly.
C. |observation Explanation
The paper on material B would Material B conducted heat to the paper more
burn. quickly.
D. |Observation Explanation
The paper on material B would | Material B conducted heat away from the paper more
burn. slowly.

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,264,965

Question 27

Primary 6 Science » Primary 6 Science (Prelim)

Lindn dosipned a meded as shown bedow,

The cup i fixed onbs & wodden rod which can mowe ol pheod A,
‘Water from a fank |5 dipped infoe the cup. Whan tha cup i3 filked up with water, it
moved down, causing the other end af the rod o hil againsl the woodan black.

Whitch of e Tolowing shoud Linda change 1o enabie ber model 1o produce a louder

sound ¥
A incragss ihe alze of the hole
B imsraass e size of e woaden ball
G changa fhe wondan ball to a metal ball
D Irereass (e haight of the tank abowes the wooden containar
A. Aonly

B. CandD only

v C. AandD only

D. A,BandConly

https://www.classmarker.com/a//tests/test/?test_id=1830200
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Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 28
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Multiple Choice
No

Fri 8th Oct 2021
N/A

29,264,972
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Trina conducted an egpariment using sarings X and Y. She heng differenl ausmbens of
waights one el a e and mecorssd the length of the spings, Hoe esulis wors shosm
in the graph baloe.

Langtn of speing fem)

110 —

spring X
100 |

‘,...r"'f -~ Bpring Y

g
o
A

._
5
LY

Losd (g

N

0 10 20 30 40 50 80 TO A0 80 100

Tha bwa spricgs, X and ¥, wene weed b0 make the bao dah racka, vhich heid iderscal
riambear of plabes a5 shown bolow.

K- ' e
- — sping % B P o
| . e
poaition O ] R ——
=" — :-—.u:_.-
2 b mmtal
4
H

When Trire: remosed Tee pales feem the op of digh fack 1. the matel dsc moved up
e P ko QL She aled removed fiees plates from desh rack 2.

Esed onihe graph end Bhe inflormalion prosided, which of the following slasemantis)
i § ars e whan thres plales were cemoved from e teo dish ecks?

A The meta diecs on boih racks have gravitaiiona’ palental enengy srd alasic
polanial erengy.

B The malal @t on dishirack 1wl hava less gravitational polentisl enengy than B
matal disa indish ek 2.

G The mels decs for both ecks moved up because the strelched Sorings exeded
a pikng Sorog an the metal discs,

O The metal disc moved op 85 B waight of tha plses i9 grealer than tha alastis
spring forca scding anthe melal disss.

A. AandBonly
A and C only
v C. BandConly

D. BandD only
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Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Fri 8th Oct 2021
Last Modified: N/A

QID#: 29,264,976

Question 29

Study the chart below,

Living things

Does il produce seeds?

rose plant

Question X: (0.5 marks)

to attempt after the test has been completed.

designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 8th Oct 2021
Last Modified: Fri 8th Oct 2021
QID#: 29,264,980

Correctly answered feedback

Question X: can it make its own food

Incorrectly answered feedback

Question X: can it make its own food

https://www.classmarker.com/a//tests/test/?test_id=1830200

Based on the chart above, fill in the blank with the correct answers.

ClassMarker - Manage Test

Primary 6 Science » Primary 6 Science (Prelim)

mishroom

This question is designed for extended answers that parent/ teacher will have to assign and guide child

Grading: This question type is not graded on this system and will not affect the final score as it was

0 pts
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Question 30

Question Y:

Study the chart below,

Living things

Does il produce seeds?

rose plant

v’ Bird nest fern

Question Type:
Date Added:
Last Modified:
QID#:

Accepted answers:

Free Text

Fri 8th Oct 2021
N/A

29,264,983

Question 31
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Primary 6 Science » Primary 6 Science (Prelim)

mishroom

Based on the chart above, fill in the blank with the correct answer.

Primary 6 Science » Primary 6 Science (Prelim)

0.5 pts

1 pt
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Study the chart below,

Living things

miesbraom

Does it produce seeds? Y
rose plant
How does organism Y reproduce?
Accepted answers:
v’ spores
Question Type: Free Text
Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,264,985
Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Question 32
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The deagram shows the charmctertstics of three fruits, P, & and L fowsd ina
park. A lick () shows the presence of the characteristic of the fulis.

Characteristic of fruil
Fruil Edible julcy flesh | Wing-like structure | Pod-like siructurns
P L
n ) L)
=] +

Based on the information from the chart above, state one similarity between Plant B and Plant D. (1
mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,269,547

Correctly answered feedback

Both of them reproduce from seeds.

Incorrectly answered feedback

Both of them reproduce from seeds.

Question 33 Primary 6 Science » Primary 6 Science (Prelim) 1 pt
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The deagram shows the charmctertstics of three fruits, P, & and L fowsd ina
park. A lick () shows the presence of the characteristic of the fulis.

Characteristic of fruil
Fruil Edible julcy flesh | Wing-like structure | Pod-like siructurns
P L
n ) L)
=] +

Based on the information from the table and the chart on the previous page, which plants, A, B, C and
D, in the chart best represents plants that bear fruits P, Q and R?

Clue Match

Fruit P: Plant C
Points: +0.3 =0

Fruit Q: Plant B
Points: +0.3 =0

Fruit R: Plant D
Points: +0.4 =0

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Fri 8th Oct 2021

Last Modified: N/A

QID#: 29,269,564

Question 34 Primary 6 Science » Primary 6 Science (Prelim) 2 pts
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The deagram shows the charmctertstics of three fruits, P, & and L fowsd ina
park. A lick () shows the presence of the characteristic of the fulis.

Characteristic of fruil
Fruil Edible julcy flesh | Wing-like structure | Pod-like siructurns
P L
n ) L)
=] +

Tha rumber of young plants that bear frults P and R ware found at various
distances from their parend plants as shown inthe graph balow.

Numberof | Bart ||
young plants = Bar2 [

i

6
Distancs from panrent plant (m]

recandad for plants of frult P, Explain your answer,

Accepted answers:
v Bar2
V2

Question Type: Free Text
Date Added: Fri 8th Oct 2021
Last Modified: N/A

https://www.classmarker.com/a//tests/test/?test_id=1830200

Buasad an the information abowe, which bar, 1or 2, reprosents fhe resuits

(2
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Correctly answered feedback

Bar 2. The number of young plants of P are decreasing as the distance from the parent plant
increases. The animals ate the thick juicy flesh of the fruit and passed but the indigestible seed in
their droppings when animals moved away.

Incorrectly answered feedback

Bar 2. The number of young plants of P are decreasing as the distance from the parent plant
increases. The animals ate the thick juicy flesh of the fruit and passed but the indigestible seed in
their droppings when animals moved away.

Question 35 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

The diagram below shows a plant.

State the main function of part G. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,269,609

Correctly answered feedback

It traps light energy from the sun to make food for the plant.

Incorrectly answered feedback

It traps light energy from the sun to make food for the plant.
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Question 36 Primary 6 Science » Primary 6 Science (Prelim) 1 pt

The diagram below shows a plant.

State the part of the flower that part H developed from.

Accepted answers:

v ovary

Question Type: Free Text

Date Added: Fri 8th Oct 2021

Last Modified: N/A

QID#: 29,269,622

Question 37 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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The diagram below shows a plant.

Four parts of the plant are listed below. Draw amows { =+ ) In the diagram
bedenws to shiow how food is transported in tha plant [1]

leaves slam

= )

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,269,636

Correctly answered feedback

leavps —» m

rocts fruits

Incorrectly answered feedback
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Question 38 Primary 6 Science » Primary 6 Science (Prelim) O pts

Al wanted 1o find cul how the distanes betaeon the lamp and tha test-tube of
an aquslic plant would affect e nomber of bubbies produced by the piant He
pregered wo sed-ups, A and B, as shown below,

Betwp A Setup B
He counled the rumber of bubbles produced per mirute or both sel-ups, His
mesults ane a5 shawn

I_S-ul:q: Humber of bubldes moduced per minubea
A 17

B s

Based on Ali's results, explain how the distance between the lamp and the test-tube of the aquatic
plant affect the rate of photosynthesis. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,269,672

Correctly answered feedback

As the distance between the lamp and the test tube increases the aquatic of light received by the
plant decreased. Thus, the rate of photosynthesis will decrease, producing bubbles.

Incorrectly answered feedback

As the distance between the lamp and the test tube increases the aquatic of light received by the
plant decreased. Thus, the rate of photosynthesis will decrease, producing bubbles.

Question 39 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Al wanted 1o find cul how the distanes betaeon the lamp and tha test-tube of
an aquslic plant would affect e nomber of bubbies produced by the piant He
prepered two set-ups, A and B, as shown below,

vz lap lamp
aquatic ﬂﬂd:]" i
Setup A

Sot-up B

resuts ane as 5hown

Humber of bublies produced per minute

| satup
A

17

33

Question Type: Essay

Last Modified: N/A

2) Number of plants.

2) Number of plants.

Question 40

QID#: 29,269,679

Date Added: Fri 8th Oct 2021

Correctly answered feedback

1) Intensity of light from the lamp.

Incorrectly answered feedback

1) Intensity of light from the lamp.

https://www.classmarker.com/a//tests/test/?test_id=1830200

He counled the rumber of bubbles produced por minute for both sel-ups. His

State two variables that Ali has to keep constant when conducting his experiment. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.
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Al wanted 1o find cul how the distanes betaeon the lamp and tha test-tube of
an aquslic plant would affect e nomber of bubbies produced by the piant He
pregered wo sed-ups, A and B, as shown below,

Setup A Set-up B
He counled the rumber of bubbles produced per mirute or both sel-ups, His
mesults ane a5 shawn

I_S-nln-q:u Humber of bubldes moduced per minube
A 17

B 33

Ali recorded the initial mass of the aquatic plants before the experiment and the final mass of the
aquatic plants in each set-up after three days. Both lamps were switched on continuously for three
days. Which plant would have a greater increase in mass? Explain your answer. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,269,702

Correctly answered feedback

Set-up B. The lamp was placed at a closer distance to the plant in B than in A. Thus, the light
intensity in B would be higher than A and the plant in B can trap more light to make more food and
photosynthesis faster allowing its mass to increased more and stored as starch in the plant.

Incorrectly answered feedback

Set-up B. The lamp was placed at a closer distance to the plant in B than in A. Thus, the light
intensity in B would be higher than A and the plant in B can trap more light to make more food and
photosynthesis faster allowing its mass to increased more and stored as starch in the plant.

Question 41 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Two identical cape, X and ¥, were balanced on a rod. A buming candle was
placed below cup X as shown blow,

[ conte

Would the rod tilt downwards towards X, remain balanced or tilt downwards toward Y? Explain your
answer. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,269,763

Correctly answered feedback

Tilt downwards to Y. Air around the candle will gain heat from the flame and rise up to go into X,
pushing X up. Thus, the rod will tilt to Y.

Incorrectly answered feedback

Tilt downwards to Y. Air around the candle will gain heat from the flame and rise up to go into X,
pushing X up. Thus, the rod will tilt to Y.

https://www.classmarker.com/a//tests/test/?test_id=1830200
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Two identical cape, X and ¥, were balanced on a rod. A buming candle was
placed below cup X as shown blow,

[ conte

Charngas weane made bo the sat up by replacing cup ¥ with cup M, made of a
different maberial,

[t wan chserved that the red was balanced only when the candls was
placad under cup X, Explain e obsaoation. 2]

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,269,772

Correctly answered feedback

Cup X has a greater mass than M. At the start of the experiment. The rod would tilt downward to X.
Thus, the rising of air around the candle was able to push X.

Incorrectly answered feedback

Cup X has a greater mass than M. At the start of the experiment. The rod would tilt downward to X.
Thus, the rising of air around the candle was able to push X.

https://www.classmarker.com/a//tests/test/?test_id=1830200
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The diagram below shaws the change of stale of water.

x

Name the process X.

Accepted answers:

¥’ Melting

Question Type: Free Text

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,269,774

Question 44

The diagram below shows the change of stale of water.

k4

¥’ condensation

Question Type:
Date Added:
Last Modified:
QID#:

Name the process Y.

Accepted answers:

Free Text

Fri 8th Oct 2021
N/A

29,269,779

Question 45
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The diagram below shaws the change of stale of water.

Michelle bought some slices of hot crispy toasted bread for her
grandfather and then walked home.

(= eIy
sealad plastic bag

hot crispy
toasted bread ———

When she reached home, she found that the slices of crispy toasted bread were damp. Explain her
observation. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,269,791

Correctly answered feedback

Water vapour inside the sealed plastic bag gained heat from the hot bread and increased in
temperature. The vapour then lost heat to the cooler inner surface of the sealed plastic bag and
condensed to form tiny water droplets. Which slid down the plastic bag and dripped on the bread.

Incorrectly answered feedback

Water vapour inside the sealed plastic bag gained heat from the hot bread and increased in
temperature. The vapour then lost heat to the cooler inner surface of the sealed plastic bag and
condensed to form tiny water droplets. Which slid down the plastic bag and dripped on the bread.

Question 46 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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The diagram below shaws the change of stale of water.

Michelle bought some slices of hot crispy toasted bread for her
grandfather and then walked home.

(= eIy
sealad plasticbag —

hot crispy
toasted bread ———

Suggest what Michelle could have done to ensure the slices of toasted bread remained crispy by the
time she reached home. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,269,797

Correctly answered feedback

Open the sealed plastic bag.

Incorrectly answered feedback

Open the sealed plastic bag.

Question 47 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Jason mada & 1oy brain and a sleel unnel, Both hed & height of 10 cm. Tha
Aluminium strips wers attached o W oy min. The diagram below shaws his
tay train 5ot

bulb

vira e

-
— T

hthery

Jason observed that the light bulb on the toy train only lit up when the train was moving completely
under the steel tunnel.

Explain why the bulb on the toy train only lit up when it was moving completely in the steel tunnel. (2
marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,269,809

Correctly answered feedback

When the train moved completely in to the steel tunnel, the aluminium strips touched the steel
tunnel and closed the gap in the circuit. Thus, the circuit was closed and electricity could flow
through the circuit, enabling the bulb to light up.

Incorrectly answered feedback

When the train moved completely in to the steel tunnel, the aluminium strips touched the steel
tunnel and closed the gap in the circuit. Thus, the circuit was closed and electricity could flow
through the circuit, enabling the bulb to light up.

Question 48 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Jason mada & 1oy Wi and a sleef unnel. Both hed & height of 10 cm, Tha

Alurifium strigs wers attached o B boy rein. The disgrsm below shaws his
lay train 5ol

Slesal uenned

bulb

Jaxsom raphacad the steal tunnal with anather funned that was mede of plestic and
steal &8 shown in ihe diagram below, The height of the new tunnel was alsa 10
e,

pastic stesl  slesl

Diseerba whod Jason would obsere of the bulb while fhe same toy iran was
mgving Bhrough the new lunnel show abosa, [1]

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,269,817

Correctly answered feedback

The bulb will flash, and the light bulb will light up and then not light up then light up again and
soon.

Incorrectly answered feedback

The bulb will flash, and the light bulb will light up and then not light up then light up again and
soon.
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Thex oy gar befow moves along the wooden plani.

magnat
Magnel X
wroEn
Car
A mlnm ;5 em v

When magnet X is placed at position A, the wooden car moved from position A to B. Give a reason for
his observation. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,269,823

Correctly answered feedback

X's north pole and the magnet on the car's north pole was facing each other an repelled, pushing
the car to B.

Incorrectly answered feedback

X's north pole and the magnet on the car's north pole was facing each other an repelled, pushing
the car to B.

https://www.classmarker.com/a//tests/test/?test_id=1830200
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Ther oy gar befow moves along the wooden plang.

magmat
Magnet % N s
A i
e Y % car

- . - . -

A A0 em 15em ¢
bAagnet ¥

A ' B

10om

Thi wooden car was piscad al positon C. Whesn magnel Y was placad
al position A, the wooden car moved from postion C lo A, Bassd cn bis

ohearvalions, which magnet, X o0 ¥, is B songar magnat. Explain your
BT, [

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 8th Oct 2021
Last Modified: N/A

QID#: 29,269,833

Correctly answered feedback

Thus, Y exerted a greater magnetic force of attraction than the force of repulsion exerted by X on
the magnet on the car.

Incorrectly answered feedback

Thus, Y exerted a greater magnetic force of attraction than the force of repulsion exerted by X on
the magnet on the car.

Question 51

Ashlynn rubbed her eraser on a piece of paper. She saw some eraser shavings on the piece of paper.
State another observation she would made of the eraser. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

https://www.classmarker.com/a//tests/test/?test_id=1830200

Primary 6 Science » Primary 6 Science (Prelim)

0 pts

49/65


https://0cm.classmarker.com/10070943_DCKHD1MG.jpg
https://0cm.classmarker.com/10070943_UAVP25OD.jpg
https://www.classmarker.com/a/tests/qb/manage/?test_id=1830200&question_id=29269833
https://www.classmarker.com/a/tests/qb/manage/?test_id=1830200&question_id=29269833&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1830200

11/1/21, 7:53 AM ClassMarker - Manage Test

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,269,838

Correctly answered feedback

The eraser will decrease in size.

Incorrectly answered feedback

The eraser will decrease in size.

Question 52 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

The dizgram below shows Ashiynn doing abseiling where she was going down
a wartical wall using & rope,

Ashlynn said wearing gloves to pull on the rope while going down the wall would protect her hand.
Explain why that was so. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,269,846

Correctly answered feedback

The gloves prevent her palms from getting cut due to friction between her palms and the rope.

Incorrectly answered feedback

The gloves prevent her palms from getting cut due to friction between her palms and the rope.

Question 53 Primary 6 Science » Primary 6 Science (Prelim) 1 pt
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Tha disgram below shows Ashiynn doing abseiling where she was going down
a wartical wall using & rope,

Name another force that was acting on Ashlynn.

Accepted answers:

¥’ Gravitation Force

Question Type: Free Text

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,269,851
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Hahin had throe wooden fremes, 5, T and L.
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Frama 5 Frama T
BT 1cm
16cm

Frama U |

1Ecm

4 —F
1fam

Thee set-up belaw shaws light shining on (s thvea woedan frames, 5, T and LI

Thy warz placed at differand positions froo e Senah

L
—{
forch ﬁ I I m!m" c

posifion A positian B

i

i

Boraan

The dimgram belkvs shives T shadew of the objects on lhe screen,

}—— screen

Which wooden frame, S, T or U, was at position C? (1 mark)

Accepted answers:
v's

¥ wooden frame S

Question Type:
Date Added:
Last Modified:
QID#:

Free Text

Fri 8th Oct 2021
N/A

29,269,860

Question 55

https://www.classmarke

r.com/a//tests/test/?test_id=1830200

Primary 6 Science » Primary 6 Science (Prelim)

0 pts

52/65


https://0cm.classmarker.com/10070943_FF6ABBD5.jpg
https://www.classmarker.com/a/tests/qb/manage/?test_id=1830200&question_id=29269860
https://www.classmarker.com/a/tests/qb/manage/?test_id=1830200&question_id=29269860&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1830200

11/1/21, 7:53 AM ClassMarker - Manage Test

Hahin had throe wooden fremes, 5, T and L.

Frama 5 Frama T Frama U |
I
18om
- ——
N —F e —
15em ! 1Gern

Thee set-up belaw shaws light shining on (s thvea woedan frames, 5, T and LI
Thay were placed at different posilions froen (e Soash, o

torch | :
posifion & position B posian G

i

ACrean
The dimgram belkvs shives T shadew of the objects on lhe screen,

Another place of wood measuring 16 om x 18 om s placed ai posiion M
53 shoam below.

|-
s

position A postion B posilion C

pasiticn M

aonaan
Will Kelvin still be able to observe the shadow that was cast on the screen earlier? Explain your
answer. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.
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Question Type: Essay

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,269,870

Correctly answered feedback

Yes as light travels in a straight line, the other piece of wood at M did not block light to form a
shadow.

Incorrectly answered feedback

Yes as light travels in a straight line, the other piece of wood at M did not block light to form a
shadow.

Question 56 Primary 6 Science » Primary 6 Science (Prelim) 1 pt
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Hahin had throe wooden fremes, 5, T and L.
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Frama 5 Frama T Frama U |
I
18om
- ——
N —F e —
15em ! 1Gern

Thee set-up belaw shaws light shining on (s thvea woedan frames, 5, T and LI
Thy warz placed at differand positions froo e Senah

i

.

< |

posison A

posBon G

position B

—{

iorch

i

ACrean
The dimgram belkvs shives T shadew of the objects on lhe screen,

}—— screen

Another place of wood measuring 16 om x 18 om s placed ai posiion M

&5 shown balow.
s ]
position 4  posfion B posilion G
pasiticn M 1

Which of the shadows will Kelvin observe if frames S, U and T are placed at positions A, B and C
respectively?

v A.
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B.
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,269,885
Question 57 Primary 6 Science » Primary 6 Science (Prelim) O pts
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Martha uzed the set-up below bo find out the: heat conductivity of matanisls P, Q
and F. The matarials were of the same length and thickness, They were placad
below & beaker of warber with the same amount of hest applied 1o he seb-ups.

besaker of wealer

TR T

The heat conductivity of matertals P, O and R is as follows.

poorest heat conductar brast haat conducior

L 3

Q | P R ]

She recorded the Ume taken for lhe walsr in sach set up 1o boll in the Eble

badow,
Materials | Time taken Tor water to start boiling [minutes) |
P 10 |
Q 10
R 10 !

Martha's teacher tobkd her thal her experment wes not 8 fair tast as the
lirme ke for water bo star bolling should Aol be 10 minutes for 8l (he
threa containers as the heat conductivity of the materals ars different,

Identify one of the constant variables which was not kept the same during the experiment and describe
what she could have done to arrive at the result shown in the table above. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,269,893

Correctly answered feedback

She could put the greatest amount of water in the beaker when R was used and the amount of
water in the beaker was the least when Q was used.

Incorrectly answered feedback

She could put the greatest amount of water in the beaker when R was used and the amount of
water in the beaker was the least when Q was used.

Question 58 Primary 6 Science » Primary 6 Science (Prelim)
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Martha uzad tha set-up below bo find out the heat conductivity of matedsis P, Q

and F. The matarials were of the same length and thickness, They were placad
below & beaker of warber with the same amount of hest applied 1o he seb-ups,

besaker of waler

R T

The heat conducthity of matertals P, Q and B is as follows.

pooresi heat conductar bast hast conductar
a | P R ]
She recorded the lime taken for lhe waber in each set up io boll in the Eble
badoray,
Materials | Time taken for water to start boiling [minutes) |
=] 10 I
Q 10
R 10 !

Martha's teachear tolkd her thal her expariment wes not 8 falr tast as the
lirme laken for water bo star bolling should Aol be 10 minutes for a8 (he
fhres containers as the heat conductivity of the materals ame different,

What would be the temperature of water if Martha continued to heat the beakers of boiling water for
another five minutes?

Material | Temperature of water (°C)
P

Accepted answers:
¥’ 100 degree celcius

v 100 degrees celcius

Question Type: Free Text

Date Added: Fri 8th Oct 2021
Last Modified: Fri 8th Oct 2021
QID#: 29,269,910

Correctly answered feedback

100°C

Incorrectly answered feedback

100°C
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Qu estion 59 Primary 6 Science » Primary 6 Science (Prelim)

Martha uzad the sat-up below to find out the heat conductivity of matedsls P, O
and F. The matarials were of the same length and thickness, They were placad
below a baaker of water with the same amownst of hest applied 1o he Set-ups,

The heat conductivity of materalz P, O and B is as follows.
poorest haat sonductar baet haat conducior

L 3

a I P R ]

She recorded the lime taken for lhe waber in each sel up io boll In the Eble

baloray,
Materials Time taken for water to start boiling [minutes)
P 10
Q 10
R 10 !

Martha's teachar fokd her thal her experdment was not e fair test as the
lirme aken for water bo star bolling should Aol be 10 minutes for 8 (he
fhrea containers as the heat conductivity of the materials are different,

What would be the temperature of water if Martha continued to heat the beakers of boiling water for
another five minutes?

Materials | Temperature of water (°C)

Q

Accepted answers:
v 100 degree celcius

¥ 100 degrees celcius

Question Type: Free Text

Date Added: Fri 8th Oct 2021
Last Modified: Fri 8th Oct 2021
QID#: 29,269,921

Correctly answered feedback

100°C

1
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Incorrectly answered feedback

100°C

Question 60 Primary 6 Science » Primary 6 Science (Prelim)

Martha uzad tha sat-up below bo find out the heat conductivity of matedsts P, O
and F. The matersls wens of the same length and thickness, They were placad
below a baaker of water with the same amount of hest applied 1o he set-ups,

The heat conductivity of matartals P, Q and B is as follows.
poones] haat eonductar beat haat conduclor

L 3

a | p R ]

She mecorded the Ume taken for lhe waler in sach set up 1o boll in the Ehle

badaw,
Materials Time taken for water to start boiling [minuiss)
P 10
Q 10
R 10 !

Martha's teacher tobd her thal her experment wes not 8 fair t9st as the
lire Eken for water to stard bolling should fol be 10 minuies for af (he
fhrea containers as the heat conductivity of the materals ame different,

What would be the temperature of water if Martha continued to heat the beakers of boiling water for
another five minutes?

Materials | Temperature of water (°C)

R

Accepted answers:
¥’ 100 degree Celcius

¥’ 100 degrees Celcius

Question Type: Free Text

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,269,938
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Correctly answered feedback

100°C

Incorrectly answered feedback

100°C

Question 61 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Twm idantical contaners were each filled with three litres of water a1 80,

Each container was then placad In kentics! larger tanks fed with cothon waool,
A tubd and & pump wera atisched to each container to allow a coninwous flow
of water gut of tha coneiner end fhen back again. Set-up A has a shortar tube

than sat-up B

Given that the set-ups were placed together int he same room, in which set-up would the water reach
room temperature first? Explain your answer clearly. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,269,950

Correctly answered feedback

B. The metal tubes are longer thus is a larger surface area exposed to the surrounding air. Thus, it
conduct more than heat from the water to the surrounding air.
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Incorrectly answered feedback

B. The metal tubes are longer thus is a larger surface area exposed to the surrounding air. Thus, it
conduct more than heat from the water to the surrounding air.

Question 62

Primary 6 Science » Primary 6 Science (Prelim)

Twn idantical containers wens each filled with threa litres of water a1 80,
Each container was then placad In Kentics! larger tanks fed with cothon waool,
& tuba and @ pump wera giseched to each conkainer o aliow 3 contneous fiow
of water gut of the container gnd fhen back again. Set-up A has a shortar lube
than sat-up B

e Ilarmcsnalar
el b B0 | - watar cad
colfion wodl -
COBINEr tuba
Lk
water in pamp
Set-up B
1§ wars foumied That the cofton woaol is filled with air spaces, &3 shown in the
digran beiow.
alr space
tharmomatar
water ak GG ik b
citlon wiodsl
eontainer
LanE
Explain the purpose of placing e contalmers into a langer tank filled
with cotton woal. [2]
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This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,269,960

Correctly answered feedback

Air in the cotton wool is a poor conductor of heat. This slows down reduced heat loss from the
water in the container to the surrounding air. This allows a more accurate measurement of rate of
heat loss of the water through the metal tube to the surrounding air most of the heat loss takes
place at the metal tube.

Incorrectly answered feedback

Air in the cotton wool is a poor conductor of heat. This slows down reduced heat loss from the
water in the container to the surrounding air. This allows a more accurate measurement of rate of
heat loss of the water through the metal tube to the surrounding air most of the heat loss takes
place at the metal tube.

Question 63 Primary 6 Science » Primary 6 Science (Prelim)
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This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,269,972
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Correctly answered feedback

Gravitational potential ---> kinetic + heat + sound

Incorrectly answered feedback

Gravitational potential ---> kinetic + heat + sound

Question 64 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

The medler coaster ks brought bo the hilghs) peinl A

Fill in the blanks with 'increase' or 'decrease' as the roller coaster moves down from point A to point B.

Clue Match
Points | Potential Energy Decrease
AtoB
Points: +1 =0
Points | Kinetic Energy Increase
AtoB
Points: +0.5 =0

Increase

Points | Speed

AtoB

Points: +0.5 =0

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Fri 8th Oct 2021
Last Modified: N/A
QID#: 29,270,091
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